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It is not because he is not liable, etc. - 9913 29991 KT 2w IND

Overview

The Xn»12 teaches that according to 7°X7 " if one steals and is 72 on N2W, he pays
' '7. The Xn3 explained' that another person was n21 on his behalf, therefore the
213 is 21 for there is no 7°1 712972 72 0p. The X713 asked how is this possible that
if the 21 himself would be n2w, he would be MWD from paying (since 1"2%p),
however now that a m>w was 2w he will be 217 to pay! The X3 answered that it
is not so that if he is 121 he is not liable to pay, rather we cannot make him pay,
since n"2%p. Our MooIN clarifies this response.

mooIN anticipates a difficulty:
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Even though that here (by 213 where he himself was n2w2 n2v) he is not even

required to pay in order to satisfy his obligation to Heaven ('77) -
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For it is only regarding monetary payments where X329 ruled in nR 22w P79
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'"The 70 forbade 12X from being brought as a 1277, even if he had relations
with his mother’, for he is liable to pay her the 710X, when he wants to fulfill his

obligation to Heaven,; this is only regarding a monetary payment, that there is a >7> XX 277
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However, he is not liable for 212 (a fine), only by the ruling of a 7''s2 -
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" The difficulty with this ruling is that he should be exempt from paying since he is 77n°» 2 for 7wnw on NAW; it is a
classic case of 7°» 112772 7% op. We are not discussing the principal and the 293 payments, for those were incurred
before the naw 2vn took place (through the 1ir°2v). Rather the remaining ' '7 payments (which are really '3 2).

? From the s’k answer (see ‘Overview’) it would seem that really the 233 is obligated to pay, however the 7"
cannot enforce this payment since n"2%p. If indeed this is the case, it would seem that the 213 on his own should pay
o°nw >7° NRYY (to fulfill a moral obligation), since he caused a loss to a fellow Jew. However, noo1n will show that he
is not obligated to pay even 0w 7> NRX.

3 10X refers to the payment given to a a1 for her services. If the payment was a kosher animal, it cannot be offered
on the mam as a 1277, as it states (in ©v>,3 [X¥N] 2°727) that TPYR 7 0% 31 7297 130K X°2n0 K5,

* See »"wA there X271 71"7. If the mother would demand her 710X from her son, he would not legally be required to give
it her, since n"2%p (he is liable for the death penalty, since & ¥ X2), nevertheless since he is morally required to pay
her (so if he did) it is considered f117 JINK.

> The P09 in 1,2 (@°wown) NMnw, regarding the payment of 953 (which is a 031p), reads 22w D2V DPIR WY WK’
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As we derive from the verse of 2op®R W= WK that it excludes® if he finds
himself guilty’ —

MooIN responds:
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Notwithstanding the above, the s'®73 answer is understood, for since he was fit

to have been financially liable if he would not have to pay with his life, so it is
understood -
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That he is also liable monetarily when the 731°20 was done through a mvw since
he is not paying with his life.

Summary
There is no @MW >7° NXXY? 211 in a case of DIP2a A7N.

Thinking it over.
nooIN derives from the X3 of XY DR ¥>wn? vIo, that in the case of 0ip, there is

no 11°1 even oW 10 nxxY.” However, this needs clarification, perhaps the 7w27 of
MYY DR YWIN? vId is only referring to what 7"2 can make him pay, but not
regarding onw >7° NX¥Y; from where does moon derive this?!"

17372 (in whatever the courts find him guilty he should pay double to his friend), from this we derive that a o1p (like
©93) is paid only when one is convicted by (2°P2X) 7"%3, but not where one admits to a crime which requires a 01p
punishment. He is not obligated at all to pay the 01p.

% Therefore, in our case of N2Ww2 WY 213 where 722 cannot obligate him to pay the M 7 (which is a 01p) because of
the n"2%p, there does not remain any obligation on the 213 to pay it even 2w >7> nXYY, for in the case of a 0P, only
72 can levy a 01p, and where 7"°2 cannot levy a 01p, it is as if there is no 01p payment at all. There is no purpose for
the 213 to pay the D W >7° NRX? 'M '7, since no such 01p was ever levied. See ‘Thinking it over’.

7 mpoIn question is that the X% seems to be implying (see footnote # 2) that really the nawa nawy 233 should be 27n,
he is exempt from paying only on account of »"2%p (which would seem to indicate that if the 213 wants to be 7> NR¥?
2w, he should pay the "1 '7), however M0 just proved that in the case of ‘M "7 (which is a 01p) there is no point in
paying. How does the X n3 answer its original question; if the 211 was 121w he would be (completely) exempt from
paying (even D°nw >7° NXXY), but now that his m°%w was 12w he is liable for payment; where is the logic?!

¥ mooin is retracting from the previous assumption (see footnote # 2) that Y21 2mn X7 Own W2 means that he is
really 0w >7° NRYY 2™, ete., rather the X713 means simply that indeed now he is not 211 to pay because of n"27p,
however if there is no n"27p, like when his 75w is 2w, he is obligated to pay.

? See footnote # 6.

"% See w"wn.
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